

Hensel's Lemma III

Let  $f(x) \in \mathbb{Z}_p[x]$

(1)

Suppose  $d_0 \in \mathbb{Z}_p$  s.t.  $|f'(d_0)|_p^2 > |f(d_0)|_p$   
 (i.e. if  $p^n \parallel f(d_0), p^m \parallel f'(d_0)$  then  $n > 2m$ )

Then there exists  $d \in \mathbb{Z}_p$  s.t.

$$f(d) = 0; |d - d_0|_p \leq p^{-n} \quad r = \text{ord}_p(f(d_0)/f'(d_0)^2)$$

$|f'(d)|_p = |f'(d_0)|_p$  (in fact,  $d$  is unique)

Proof Essentially the same.

Take more care with powers of  $p$ . (most easily expressed in terms of  $| \cdot |_p$ ).  $d$  is the limit  $d_{n+1} = d_n - f(d_n)/f'(d_n)$

Example where this is useful:

$$3x^3 + 4y^3 = 5 \text{ has solution in } \mathbb{Q}_p \text{ in all } p.$$

Claim: there exists  $y \in \mathbb{Q}_3$  s.t.  $4y^3 = 5$

$$F(x_1, \dots, x_s) = \sum_{1 \leq i, j \leq s} c_{ij} x_i x_j \quad c_{ij} = c_{ji}$$

Th. If  $s \geq 5$  then there exists  $0 \neq a \in \mathbb{Q}_p^s$  s.t.  $F(a) = 0$

Pf. (for  $p > 2$ );  $F(x_1, \dots, x_s) = (x_1, \dots, x_s) (c_{ij}) \begin{pmatrix} x_1 \\ \vdots \\ x_s \end{pmatrix}$

Make a change of variables that diagonalizing the matrix  $(c_{ij})$ .

So we are really looking at  $c_1 x_1^2 + c_2 x_2^2 + \dots + c_s x_s^2 = 0$   
 $c_i \in \mathbb{Q}_p; \prod c_i \neq 0$

Write  $c_i = p^{k_i} a_i; a_i \in \mathbb{Z}_p^\times, k_i \in \mathbb{Z}$

$$p^{2n} = (p^{2n})^2$$

$$I_j = \{i \in \{1, \dots, s\} : k_i \equiv j \pmod{2}\} \quad j=0,1$$

$$\sum_{i \in I_0} a_i \underbrace{\left(\frac{p^{k_i/2}}{2} x_i\right)^2}_{y_i} + p \sum_{i \in I_1} a_i \underbrace{\left(\frac{p^{(k_i-1)/2}}{2} x_i\right)^2}_{y_i}$$

$$\sum_{i \in I_0} a_i y_i^2 = 0 \quad \sum_{i \in I_1} a_i y_i^2 = 0$$

If  $s \geq 5$  some  $I_j$  has size at least 3!

$\sum_{i \in I_j} a_i y_i^2 = 0; |I_j| \geq 3 > 2 \Rightarrow$  By Chevalley-Waring there exists a non-zero solution modulo  $p$

By Hensel's Lemma I or II

There exists a non-zero solution in  $\mathbb{Q}_p$ .

Th. If  $s \geq d+1$  and  $p \nmid d$  then any equation

$$c_1 x_1^d + \dots + c_s x_s^d = 0 \quad c_i \in \mathbb{Q}_p \text{ has a non-zero solution in } \mathbb{Q}_p$$

(still true if  $p \mid d$ )

Th. (of Brauer) Let  $d \geq 1$

There exists an integer  $\varphi(d) > 0$  s.t. if  $F(x_1, \dots, x_n)$  is a homogeneous equation of degree  $d$  in  $n \geq \varphi(d)$  variables, then  $F(x) = 0$  has a non-zero solution in  $\mathbb{Q}_p$ .

( $\varphi(d)$  exists indep. of  $p$ )

(If  $d=3$ , then  $\varphi(d)=10$ )

$d=3$  Either there exists a zero or

$$F(x) = ax_1^3 + Q(x_2, \dots, x_n)x_1^2 + L(x_2, \dots, x_n)x_1 + C(x_2, \dots, x_n)$$

Proposition Let  $F(x_1, \dots, x_n)$  be a quadratic form with  $c_{ij} \in \mathbb{Z}_p$ . If there exists a solution to  $F(x) \equiv 0 \pmod{p^n}$  with  $r = 2 \text{ or } d_p(2 \det(c_{ij})) \neq 1$  and some  $x_i \not\equiv 0 \pmod{p}$

then there is a non-zero solution in  $\mathbb{Q}_p$ .

• Can talk about continuous functions

$$f: \mathbb{Z}_p \rightarrow \mathbb{Q}_p \text{ or } \mathbb{Q}_p \rightarrow \mathbb{Q}_p$$

Given  $\epsilon > 0$  there exists  $\delta > 0$  s.t. if  $|x-y|_p < \delta$  then  $|f(x)-f(y)|_p < \epsilon$ .

$$\binom{x}{n} = \frac{x(x-1)(x-2)\dots(x-n+1)}{n!}$$

If  $x \in \mathbb{N}$  then  $\binom{x}{n} \in \mathbb{Z}$ ; If  $x \in \mathbb{Z}_p$ , then  $\binom{x}{n} \in \mathbb{Z}_p$

Th. (Mahler) If  $f: \mathbb{Z}_p \rightarrow \mathbb{Q}_p$  is a continuous function then  $f(x) = \sum_{m=0}^{\infty} a_m \binom{x}{m}$ ;  $|a_m|_p \rightarrow 0$

Th. (Skolem)

Let  $a_{n+2} = Aa_{n+1} + Ba_n$ ;  $A, B \in \mathbb{Z}$ ;  $a_0, a_1 \in \mathbb{Z}$

be a recursive ~~relation~~ ~~sequence~~ sequence.

Either: (i)  $\{a_n\}$  is eventually periodic

(ii)  $a_n$  takes any given value at most finitely many times

( $a_n = x$  for only limited many  $n$ )

Idea

$$x^2 - Ax + B = (x-\alpha)(x-\beta)$$

$$a_n = C\alpha^n + D\beta^n \quad C, D \in \mathbb{Q}$$

$$a_n = \sum_{m=0}^{\infty} b_m \binom{n}{2m} (A^2 - 4B)^m$$

$$\alpha = \frac{A + \sqrt{A^2 - 4B}}{2} \quad \beta = \frac{A - \sqrt{A^2 - 4B}}{2}$$

$x^2 + 7 = 2^n$  for finitely many  $n$

$$\alpha^n = \frac{1}{2^n} \sum_{j=0}^n A^j (A^2 - 4B)^{n-j} \binom{n}{j}$$

$$\frac{x^2 + 7}{4} = \left(\frac{x + \sqrt{-7}}{2}\right) \left(\frac{x - \sqrt{-7}}{2}\right) = \left(\frac{1 + \sqrt{-7}}{2}\right) \left(\frac{1 - \sqrt{-7}}{2}\right)$$

$$\frac{x + \sqrt{-7}}{2} = \pm \left( \frac{1 + \sqrt{-7}}{2} \right)^n \quad n \pm \left( \frac{1 - \sqrt{-7}}{2} \right)^n$$

$$\frac{a_n + b_n \sqrt{-7}}{2} \quad ? \quad b_n = \pm 1$$